KCF)—XIEIDTERICKVEIEZEDEFHELETTINDUENERLGYET,
ZUTADTEEHEORmEZFIALIEEL,

2~ 6 R— : D30 ~ 303
7~ 11 R— : D304 ~ 599
- 12 ~ 16 XR—< : D600 ~ 899

- 17 ~ 21 R—< : D900 ~ 1000



ANk
D30 ~ 303 No. &7 HE ME & R EIE
1 ANR—TL—L 2 7L 4 A6063S-T5 DILIN=TF LA, TS99 T7 LAk
2 I59hIL—L 2 7Lt A6063S-T5 DILIS=TF LA, TS99 T LAk
3 B4R 2 7 JLEAR A1050P DIVIN=TF IR, TSIV T7ILIAk
4 H4E X (I M3 x 8) 8 & ZwiLAvE | ZfliRIAA—k

ASPAVn VN

D r—2BE
KCF 100 - 40 - | | L[ |

I5ykIL— L1
D ‘s
AR 2
<tk HIBR &R
D =30 ~ 303
4 S —
Ik =k B EERRED)
<O s AN =7b—4L=77398IL-LE AR e
% SS 2 )LiINn— S IJLIN—
SB S ILIN— TS99
BS 7599 2 LIR—
{:5\’ BB 595 5595
‘ EY
HIN—TL—L2 B SH AN RN R AR —2 o]
H < =
L %" , 7E B e TE R
KCF100-40-0OLO (D30 ~ 303)
iR #E 51 s
%A 2019/07/11




D30 ~ 303

100
©
g
B-B(1:2)
o~ o s
H N re)
‘ \ ‘ T 8 |
1 D A D 7\77
| Nt |
I A I
‘ i
! N &
o o -
P VLVIVESIN|
A-A(1:2)
2
<
S
C
96.4

AR 2
HIN—TL—L1

"
|

2.8

T29hTL—L2

D+10

Cc-C(1:2)

90

4-@42

HIN—DTL—L2

D-D(1:2)

BRSHINTEMTE

i

a0

)= A5 —2R

KD

iR

e

#H|

HHE

A

KCF100-40-CJLO (D30 ~ 303)

2019/07/11




D30 ~ 303

HhN—2JL—L4
6.35 99.4
¥
o
AIAS VN
92
R2.2
86.2
o
4-M3 86.7 a

HIN—DTL—L1(RR)

HN—=DTL—L2(RR)

HIN—DL—L2

R %
R
B SH AN RN R AR —2 o]
TE) BE U T RE
KCF100-40-0LO (D30 ~ 303) 1:2
iR H#E 3201 s,

i359=} 2019/07/11




D30 ~ 303
TIo9hIb— L

D-4

1.5

0.75

0.75

IV IL—L1(AR)

7vbIL— L1

759k IL—L2(ATR)

TIvbIL—L2

BRSHINTEMTE

%
)= A5 —2R

a0

iR

e

#H|

HHE

A

Fix

BE
KCF100-40-CJLO (D30 ~ 303)

i359=} 2019/07/11




D30 ~ 303
Bl

12

4-M3AY

J!
3t

425

IR 1

2-4.2

90

100

32

92

-

E-E(1:1)

N—-L1

{8l #R 2

Q9

@A

R
BRESUINTFEMT S AR
AR ®’E ES3E nE
W100 — H40 (LZA )
thif A A
fERZA 2019/07/11

A —




ANk
D304 ~ 599 No. & BE HE & RELE
1 ANR—TL—L 2 7L 4 A6063S-T5 SIVR=TF LAk, TSvOF LAk
2 I5vbIL—L 2 7Lt A6063S-T5 IWIN=TF LA, TS9IT LA+
3 B4R 2 7 JLEAR A1050P DIVIN=TF IR, TSIV T7ILIAk
4 EEEE 2 R SECC Jra—hk21
5 HR{FE R (M M3 x 8) 8 % S LAvE | SRS OA—k
6 ER{FE R (FE{F5LM M3 x 5) 4 % Zwir LAy | ElEAA—hk
D
D
N
AR 2 T—AEE
HIN—DTL—LA1
KCF 100 - 40 - | | L[ |
I5vhIL— L 95y IL— L2 D ‘LS
<R 6
D = 304 ~ 599
5
Bk EERED
& s AN =7b—4L=77398IL-LE BlRE
ss SIN— DLN—
e SB $ILIN— I5v9
BS I5v9 SILiINn—
S BB I5vY 399
B HIN—TL—L42 —
. B2 IHF BT % YA XI—2 @]=
B B e FE REE
KCF100-40-0LO (D304 ~ 599)
iR 1#H (320 {5
fERL B 2019/07/11




D304 ~ 599

C-C(1:

|
|

B-B(1:3)

I5vhIL—LAA

100

7o)
g
fltx2
4-gg4.2
F & 3]
2.8 ‘
o o
¢ a T >
o | ‘ o ‘
e ©
hN—2JL—L1 IIybIL—L2 HIN—DL—L12
IR
A-A(1:3)
65 1.2 1.2 65

M
L

g BRSHINTEMTE

%
)= A5 —2R

a0

iR

e HHE

#H| A

EiE
KCF100-40-ILO (D304 ~ 599)

i359=} 2019/07/11




D304 ~ 599
HhN—2JL—L4

6.35 99.4
HN—TL— L1 (HAR) AL —L2(AHR)

ﬂ 2-¢45 “
‘e f\|| o) n ﬂ() () ()

D-4
= "—"—"—“ > "“"“"“—“—“—“—“>§>————————————

HIN—TL— L1 HIN—TL—L2
92
0
4-M3 86.7 T
B
TAKACHI] XS4 hFERIE V) —H A X—R @ G
B B e FE REE

KCF100-40-CILO (D304 ~ 599)

iR #H| A

i359=} 2019/07/11




D304 ~ 599
TIo9hIb— L

D-4

15

0.75

0.75

IovhIL—L41

75yhIL—LAL1(A18)

IV IL—L2(RR)

IIvhIL—L2

L]
HRARUIHFEMT R TY—H AR —2R
AR 1w e BE
KCF100-40-CILCI (D304 ~ 599)
g 1| it
304z ] 2019/07/11




D304 ~ 599
IR

12

4-M3AY

J!
3t

425

IR 1

2-4.2

90

100

32

92

-

E-E(1:1)

N—-L1

{8l #R 2

Q9

@A

R
BRESUINTFEMT S AR
AR ®’E ES3E nE
W100 — H40 (LZA )
thif A A
fERZA 2019/07/11

A —




ANk
D600 ~ 899 No. 2% e ! HE & RENE
1 HN—TL—L 2 7L 4 A6063S-T5 SIVR=TF LAk, TSvOF LAk
2 I5vbIL—L 2 7Lt A6063S-T5 IWIN=TF LA, TS9IT LA+
3 B4R 2 7 JLEAR A1050P DIVIN=TF IR, TSIV T7ILIAk
4 EEEE 4 R SECC Jra—hk21
5 HR{FE R (M M3 x 8) 8 % S LAvE | SRS OA—k
6 ER{FE R (FE{F5LM M3 x 5) 8 % Zwir LAy | ElEAA—hk
\ »
s > l“
> : N R
N
AR 2 T—AEE
HIN—DTL—LA1
KCF 100 - 40 - | | L[ |
Skl I59hIL—L2 D Bis
<R 6
D = 600 ~ 899
5
Bk EERED
¥ s AN =7b—4L=77398IL-LE AR e
ss SIN— DLN—
e SB $ILIN— I5v9
BS I5v9 SILiINn—
S BB I5vY 399
B HIN—TL—L42 —
. B2 IHF BT % YA XI—2 @]=
B B e FE R
KCF100-40-LO (D600 ~ 899)
iR 1#H (320 15
fERL B 2019/07/11




D600 ~ 899

10

—r—————T— 7

L%

7—ADFik a b
600 ~ 649 150 D-300
650 ~ 699 200 D-400
700 ~ 849 250 D-500
850 ~ 899 300 D-600

D+20

425

36.4

100
fBItR2 90
4-4.2 D-D(1:4)
B —
2.8 | |
4 T
T o)
I ‘ I | I I
B —~
HIN—TL—Ls1 ISy IL—L2 HN=TL—L2
AR 1
A-A(1:4)
65 1.2 12 65

%

Bo

Ej o HBASHANWTFERTE )= A5 —2R
©
= ) BE BT ES

96.4 KCF100-40-CILO (D600 ~ 899)
: iR #H| A

i359=} 2019/07/11




D600 ~ 899
HhN—2JL—L4

6.35

D-4

92
R2.2
86.2
~ -
> -
4-M3 86.7

IASIVN|

1.5

HN—=DTL—L1(AR)

HIN—TL—L2(ATR)

[
|

|| || 4-p4.5
| || I| Jll
10.3 10.3 HIN—TL—L2
—ADtik a b
600 ~ 649 148 D-300
650 ~ 699 198 D-400
700 ~ 849 248 D-500
850 ~ 899 298 D-600 i b
E

BRSHINTEMTE

)= A5 —2R

iR

e

#H|

ET e
KCF100-40-00L (D600 ~ 899)

A

fERE 2019/07/11




D600 ~ 899
TIo9hIb— L

TR IL—L1(RR) TR IL—L2(R1R)

D-4

P L% N IovbIL—L2
266
o
0 —_— —_—
. 0
~
o
E
TAKACHI| #XK#2hFEHITE =Y A Xr—R
AR #®E ®HE BE

KCF100-40-CILO (D600 ~ 899)
iR #H| A

i359=} 2019/07/11




D600 ~ 899
IR

12

4-M3AY

J!
3t

425

IR 1

2-4.2

90

100

32

92

-

E-E(1:1)

N—-L1

{8l #R 2

Q9

@A

R
BRESUINTFEMT S AR
AR ®’E ES3E nE
W100 — H40 (LZA )
thif A A
fERZA 2019/07/11

A —




ANk
D900 ~ 1000 No. & BE HE & RELE
1 HN—TL—L 2 7L 4 A6063S-T5 SIVR=TF LAk, TSvOF LAk
2 I5vhIL—L 2 7L A6063S-T5 IWIN=TF LA, TS9IT LA+
3 B4R 2 7 JLEAR A1050P DIVIN=TF IR, TSIV T7ILIAk
4 EEEE 6 R SECC Jra—hk21
5 HR{FE R (M M3 x 8) 8 % S LAvE | SRS OA—k
6 ER{FE R (FE{F5LM M3 x 5) 12 % Zwir LAy | ElEAA—hk
D
N
fitR2 T—ARE
HIN—DTL—LA1
KCF 100 - 40 - | | L[ |
I5vhIL— L 95y IL— L2 D ‘LS
<R 6
D =900 ~ 1000
5
Bk EERED
& s AN =7b—4L=77398IL-LE BlRE
ss SIN— DLN—
e SB $ILIN— I5v9
BS I5v9 SILiINn—
S BB I5vY 399
B HIN—TL—L42 —
. B2 IHF BT % YA XI—2 @]=
B B e FE REE
KCF100-40-L[O (D900 ~ 1000)
iR 1#H (320 15
fERL B 2019/07/11




D900 ~ 1000

C-C(1:55)
o
['e]
-
7.2

N
<
S
IS

by
e
n

<
S
IS

T
e
o
e
N

10

B-B(1:55)

5V IL—L41

C%'éDN

]
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

il

D-4

c»FD“‘

D+20

100
o
s ]
k2 90
4-4.2 D-D(1:55)
B —|
28
: °
o o -t T - |
117 :
A ‘ A
B —~
HN—TL— L1 75vbITL—L2 HIN—TL—L2
fBtR1
A-A(1:55)
65 1.2 12 65 A

36.4

LI

96.4

36.2

BRSHINTEMTE

=Y AXr—2R

AR e EIe

R 1#H| A

ﬂ

&

KCF100-40-CILO (D900 ~ 1000)

304z ]

2019/07/11




D900 ~ 1000
HhN—2JL—L4

D-4

R2.2

3.7

4-M3

HIN—DJL—LA

15

248

(D-500)/2

(D-500)/2

248

D=L —L1(AR)

10.3

6-@4.5

10.3

HN—TL—L4L2(A1R)

HIN—DTL—L2

BRSHINTEMTE

%
)= A5 —2R

a0

iR

e

#H|

HHE

A

EiE
KCF100-40-CILOI (D900 ~ 1000)

i359=} 2019/07/11




D900 ~ 1000
TIo9hIb— L

D-4

15

0.75

0.75

P VLIVSIN|

759 IL—L1(AR)

T59hIL—L2(R1R)

IV IL—L2

BRSHINTEMTE

%
=Y AXr—2R

a0

AR

iR

e

#H|

e

A

EiE
KCF100-40-CILOI (D900 ~ 1000)

i359=} 2019/07/11




D900 ~ 1000
{4k

12

4-M3AY

J!
3t

425

IR 1

2-4.2

90

100

32

92

-

E-E(1:1)

N—-L1

{8l #R 2

Q9

@A

R
BRESUINTFEMT S AR
AR ®’E ES3E nE
W100 — H40 (LZA )
thif A A
fERZA 2019/07/11

A —




